12

11

10

(6

Pos | Qty Code Name
1 1 997850 TEMPERATURE INDICATOR ROUND STYLE
2 1 14583 THERMAL CUT-OUT 96°C
311
6 1 Screw M6x16 DIN 965 A2
7 1 1612070241 THERMOSTAT WHEEL FAVOURITE
8 |1
9 1 1801250550 PLASTIC COVER SPECTRA
10 | 1 WURTH 4X14 WUPLAST -W1412-72-10.9
1111 14338 THERMOSTAT 11-75°C
12 | 1
1311 16000 SAFETY VALVE 1/2" METAL BODY
141 1 SPRING WASHER Type B M8 DIN 127
151 1 NUT M8
16 | 1 WASHER A M8 DIN125
171 1 Screw M4x10 1A - 4.8 1SO 1580
18 | 1 SPRING WASHER FORM B 4h DIN127
19| 1 Plain washers Form A ISO 7089 / DIN 125-1,

125-2




